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HK-19080001040400
B. Com. (Sem. IV) Examination
April - 2023
Cost Accounting - 2
(Costing - 2) (New Course)

Time : 2% Hours / Total Marks : 70
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ENGLISH VERSION

Instructions : (1) Figures to the right side indicate marks.
(2) Show necessary calculations as a part of answer.
1 A product passes through three processes “X”, “Y™ and “Z”. 20

10,000 units were introduced to process ‘X’ at Rs. 10 per unit.

The other direct expenses were as follows :

Particulars Process “X” | Process “Y” | Process “Z”
Amt. (Rs.) Amt. (Rs.) Amt. (Rs.)

Expenses :
Sundry Materials 10,000 15,000 20,000
Direct Labour 55,000 85,000 60,590
Direct Expenses 5,500 6.875 9,500
Other Information :
Normal Wastage (in units) 300 475 (?)
Actual output (in units) 9,500 9,100 8,100
Selling prices of normal

wastage per unit (Rs.) 2.50 5.00 10.00

The final product was sold at Rs. 85 per unit fetching a profit of

50% on sales.

Prepare Process Accounts.

Find out the percentage of normal wastage in process “Z”.
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1  Sanyam Company Ltd. gives the following cost data. You are 20

required to prepare various Process Accounts and prepare

Abnormal Wastage Account and Abnormal Gain Account.

1000 units at Rs. 6 per unit were introduced in Process-1.

Particulars Materials Wages Direct [Overheads| Actual | Normal Value
(Rs.) (Rs.) Exp. (Rs.)[Output (Wastage | of scrap

(Rs.) (units) (%) | per unit

(Rs.)

Process-1 5,200 3,300 2,700 2,0001 950 5% 4
Process-2 3,960 4,000 4,000 4,000 840 10% 8
Process-3 5,900 6,024 5,500 4,500 750 15% 10

2 Saloni Construction Company undertook one contract of Rs. 12 20

lakh and commenced its work from 1-4-20. The accounting year

ends on 315! December. Expenses are as under :

Additional Information :

(1) Outstanding direct wages on 31-12-20 are Rs. 10,000.

Material Cost

Rs. 3,00,000

Direct Wages paid ......cccceeeevveeeiiieenieeeniieeeieenns Rs. 40,000
INdirect Wages .......ccueeeeveeeriieeeiiee e Rs. 20,000
Overhead EXp. .oooovveviviiieeiiecieeeee e, Rs. 60,000

Machines issued (1-4-20)

Special machine issued (1-7-20)

Rs. 1,00,000

Rs. 10,000

(2) Out of materials issued, materials of Rs. 10,000 was sold at

Rs. 5.,000.
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(3) A special machine issued is sold at Rs. 6,000 on 31-8-20.

(4) Out of machines issued, machines of Rs. 16,000 were
supplied to another contract on 1-7-20 while a machine
costing Rs. 18,000 was burnt by fire on 31-8-20 and
insurance company accepted a claim of Rs. 10,000 against
it. In addition, on 30-9-20 a machine costing Rs. 6,000 has
been sold at Rs. 4,000.

(5) Provide 10% annually depreciation on machines.

(6) At the end of year, work certified was Rs. 6 lakh. Materials
on hand were Rs. 20,000.

Contractee gives cash at 80% of work certified.
From the above details prepare Contract Account.
OR
2 The following is the summary of entries in a contract ledger of 20

VIHAN as on 31-12-20 in respect of Contract No. 555.

Particulars Amt. (Rs.)|Particulars Amt. (Rs.)
Direct Materials 1,60,000 [ Establishment charges

Materials from Stores 40,000| apportioned 20,000
Direct Wages 60,000 (Plant (on 1-1-20) 1,20,000
Direct Expense 40,000( (including special

plant of Rs. 40,000)
Cost of sub-contract 8,000

Sale of scrap 12,000
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Additional Information :

(1)

(2)
3)

(4)
(5)

(6)
(7)
(8)
9)

Accruals on 31-12-20 were, wages Rs. 21,600 and direct
exp. Rs. 12,000.

On 1-7-20 plant worth Rs. 32,000 was sold for Rs. 30,800.

On 1-10-20 the special plant was completely destroyed by

fire. Insurance company admitted a claim of Rs. 16,000.
Depreciation on plant is to be calculated at 10% per annum.

Material worth Rs. 8,000 were partly destroyed by fire. They

were sold for Rs. 3,200.

1 th

The cost of work uncertified was E of the certified work.

On 31-12-20 materials at site were Rs. 4,000.
Cash received Rs. 3,60,000 being 75% of work certified.
Contract price was Rs. 6,00,000.

(10) Transfer 3/4th profit on cash basis to P&L Account.

Prepare Contract Account.

3  Anita Ltd. is having three production departments AOX, BOX
and COX and one service department XYZ. During the month of
April, the working days are 25, each day of 8 hours. The following
data is available from its books :

. Factory rent ......ccc.eeeeeeeiiiiiiiniiieeeeieeeeeeee e Rs. 50,000
. Factory Taxes .......cceevvviiieiiiniiiiiiieeceeeeec e Rs. 25,000
. Supervisor’s Salary ......c.cceeeeerirerieeiieeeeeeeene Rs. 36,000
. Factory Lighting .........ccccoevviiiiiiiiniiiieiieeieeee, Rs. 30,000
. Depreciation of machinery .........c.ccceeeveeeriveeennnnns Rs. 2,250
. Insurance Premium of Machinery ........cc.cccoeeeeeen. Rs. 2,250
. Workers welfare exp. .....cccceeeevieeeeciieeeiieeeiieeeeieeens Rs. 2,100

15
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Other information is as under. On the basis of that, find out “Direct

Worker hour rate” for each department.

Particulars

AOX [ BOX COX | XYZ

Indirect Wages (Rs.)

Number of workers

No. of light points

Space occupied (sq. feet)

Proportion of allocation of

supervisor’s salary

Price of Machine (Rs.)

Services rendered by XYZ Dept.

16,765 | 8,705 | 14,930 | 6,000

250 150 100 100

360 240 300 | 300

30% 20% 20% | 30%

1,00,000 ]60,000 |1,40,000 —

40% 30% 30% —

OR

3 There are three production departemnts A, B and C and two 15

service departments X and Y in a factory. The benefit of service

departments are availed of by various departments in the

proportion of percentages given below.

Production

Department

Service

Department

A B C

X Y

X

Y

20% | 40% | 30%

40% [ 20% | 20%

- 10%

20% -

The overheads of five departments are Rs. 20,000, Rs, 17,500,
Rs. 15,000, Rs. 5,850 and Rs. 7,500 respectively. Apportion the
service department expenses over production departments by

Repeated Distribution Method. (All calculation should be near Rs.)
HK-19080001040400 |
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The following information regarding Job No. 101 is taken from
cost accounts of Rimtex Engineering Factory.

(1) MaterialS.....ccoveeerveeriiieeriieeeiee e Rs. 8,000

(2) Direct EXp..oooveeeiieeiieeeieeeeeeeee e Rs. 2,000

(3) Labour and variable overheads :

15

Department Labour | Labour| Variable Total
Hours | per hour | overheads |labour hours

(Rs.) (Rs.)
Al 600 1 25,000 50,000
A2 500 2 20,000 40,000
A3 400 3 15,000 30,000
A4 300 4 12,500 25,000

(4) Fixed overheads : Rs. 64,000 for 32,000 general working

hours.

Calculate total cost of Job No. 101.

15

OR
As a cost accountant of a company, you find that the selling
price of Job No. 420 has been calculated as follows :
Particulars Amt. (Rs.)
¢ MaALETIALS ..eoueiiiiieiiieeee e 210
* Direct Wages (18 hours at Rs. 2.50 per hour).........c.cccueee.e. 45
— Dept. A 8 hours
— Dept B 6 hours
— Dept. C 4 hours
* DIrect EXPENSES ...ceeevviiiriiiiiiiiieeiiie ettt eeiree st 15
Prime CoSt....cooovvrviiiiiiiiiiiieciceee, 270
* Overheads (25% on Prime Cost) .....ccccvvveeeeviiiiieeeciiee e, 67.50
Total CoSt...eevveeeiiiiiiiieiieen. 337.50
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An analysis of the previous year’s profit and loss account shows

the following :

Particulars Amt. (Rs.)|Particulars Amt. (Rs.)
Materials 1,50,000| Sales 2,50,000
Direct Wages :
Dept. A 10,000
Dept. B 12,000
Dept. C 8,000 30,000
Specific Material 4,000
Factory Overheads :
Dept. A 5,000
Dept. B 9,000
Dept. C 2,000 16,000
Gross Profit 50,000

2,50,000 2,50,000
Selling Overheads 20,000| Gross Profit 50,000
Net Profit 30,000

50,000 50,000

The average daily wage rate is identical in all the three

departments.
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You are required to :
(1) Draw up a job cost sheet.

(2) Calculate the revised cost using the previous year’s figures

as a basis.

(3) Add to the total job cost 20% for profit and give the final

selling price.
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